

Valdez Beautification Matching Grant Program 2023 Program Application

1. PROJECT LOCATION
Address to be improved: 2 HAZELET AJE.
Assessor Parcel ID Number(s):
Name of Business or Organization: Fraterial Orden of Eagles 1971
Is this property (check one):Tier OneTier Two
2. APPLICANT INFORMATION
Name: LANNY WEAVER J.P.W.P. FOE 1971
Address: 121 Hazelet AJe.
Mailing Address: _
Email Address:
Do you:XOwnRent (month to month)Lease
If leased, date of lease expiration:
Name of Property Owner(s): F.O.E.
Property Owner Email Address:
Property Owner Phone:

3. DESCRIPTION OF PROPOSED IMPROVEMENTS

Please attach the following to this application for consideration:

- · Detailed written description of proposed work;
- Sketches or drawings of proposed improvements, including samples/photographs of paint colors or materials to be used (do not need to be professionally drawn, but are required for application consideration);
- · Color "before" photographs of the area or areas to be improved;
- · Bids for contracted work;
- Budget breakdown including itemized list of costs associated with the project; and
- A letter/narrative addressed to the Beautification Task Force explaining how the proposed work adds to the aesthetics of your property and our community

Applications missing any of the above items will not be considered.

- 4. ESTIMATED DAYS/MONTHS FOR PROJECT COMPLETION:
- 5. ESTIMATED COSTS (ATTACH AN ITEMIZED LIST OF COSTS ASSOCIATED WITH YOUR PROJECT.)

TOTAL ESTIMATED PROJECT COST: \$ 80,871.22

TOTAL MATCHING GRANT REQUESTED: \$ 25,000

Depending on available funding for the grant program, awarded matching grants may be less than the full amount requested in this project application. Could and would you proceed with this project if you are awarded less than the full matching grant amount requested?

Circle one (YES) NO
Please explain. Focus of Work will be front of Building

By signing below, I confirm I have read and understand the requirements and process for the 2023 Beautification Matching Grant Program. The information submitted in this application is true and complete to the best of my knowledge.

Applicant Signature: Jany Weaver Date: 3-7-23

FRATERNAL ORDER OF EAGLES 1971

121 Hazelet Ave Valdez, AK. 99686

Commissioners City of Valdez Po box 307 Valdez, AK. 99686

Dear Commissioners:

The Valdez Eagles Hall was built in the early 1900's, the Eagles received their charter that established them as a local Aerie on July 13th 1911. The Eagles organization has been a active and important entity to the citizens of Valdez, living up to their mission of people helping people.

After the 64 earthquake which destroyed most of Valdez, the Eagles Hall survived and was moved to its present location where it has served as a movie theater and gathering place for the community, but it has been a long time since it has had a facelift.

The Eagle's Hall is located on a well-traveled street and visible intersection in the downtown corridor, the Aerie and Auxiliary hold events throughout the year that are attended by the community. This grant will help preserve a important part of Valdez History.

Sincerely,

Members of Aerie and Auxiliary 1971

Fraternal Order of Eagles

FRATERNAL ORDER OF EAGLES

BEAUTIFICATION GRANT:

DESCRIPTION OF WORK TO BE DONE

- 1) Remove old flower beds and brush around building.
- 2) Replace siding on building focusing on the front.
- 3) Remove satellite dish.
- 4) Relocate flagpole.
- 5) Expand covered area over entrance to run the full length of the building.
- 6) Widen and expand front porch to run full length of building.
- 7) Add hanging baskets, new flower bed along front of porch.
- 8) New lighting and signage to the front of the building.

Siding to be replaced on entire building if funds are available, focus will be on front facing street.

Itemized list of cost:

Demolition	Units		rice Per Unit	Est Cost
1) Backhoe rental	1 week	\$.	500	\$500.00
Construction				
Rough terrain scissor lift	3 months	\$	2250.00	\$ 6750.00
2) Sono tubes 10"	6	-	15.48	\$ 92.88
3) Bigfoot	6		31.98	\$ 191.88
Portland cement	8	-	23.99	\$ 191.92
5) Sand	3 yds.		43.90	\$ 131.70
6) Gravel	3 yds.		26.50	\$ 79.50
7) House wrap	2 rolls	-	127.00	\$ 254.00
8) Felt roof underlayment	4 rolls	\$	34.47	\$ 137.88
9) Grace ice shield	1 roll	\$	209.00	\$ 209.00
10) 2x2x8' treated	150	\$	7.68	\$ 768.00
11) 2x4x10' treated	8	\$		\$ 78.24
12) 2x6x10' treated	10	\$	15.68	\$ 156.80
13) 2x8x12' treated	30	\$	20.38	\$ 611.40
14) 2x10x12'treated	10	\$	28.58	\$ 285.80
15) 2x10x16'treated	56	\$	37.56	\$ 2103.36
16) 4x4x8' treated	6	\$	14.38	\$ 86.28
17) 4x8x8' treated	4	\$	33.27	\$ 133.08
18) 4x8x12' treated	2	\$	63.28	\$ 126.56
19) 6x6x12' treated	6	\$	80.98	\$ 485.88
20) 8x8x12' treated	6	\$	201.15	\$ 1206.90
21) 2x8x12' untreated	20	\$	12.68	\$ 253.60
22) 2x10x16'	4	\$	23.06	\$ 92.24
23) ½ OSB plywood	20	\$	30.05	\$ 601.00
24) RTEC 1" perforated foam board	l 50	\$	26.21	\$ 1310.50
25) Simpson joist hangers	90	\$	2.58	\$ 232.20
26) Simpson Rafter ties	60	\$.98	\$ 58.80
27) 26ga Trilap siding (front only)	1200 SF/902LF	\$	4.98LF	\$ 4491.96
28) 50% for Trilap trim & access				\$ 2245.98
29) 26ga Trilap siding (sides & back) 8760SF /6586L	.F\$	4.98LF	\$32798.28
30) 50% for Trilap trim & access				\$16399.14
31) RTEC 1" perforated foam board	l 274	\$	26.21	\$ 7181.54
32) 2 1/2 wood screws 2163 p/box	3	\$		\$ 357.00
33) 3" wood screws 808 p/box	3	\$		\$ 224.70
34) 4" timber lok 50 p/box	6	\$		\$ 225.36
35) 1 ½ Teco nails 1000 p/box	2	\$	21.61	\$ 43.22
			Total Project	\$80871.22

Items highlighted in red are to complete entire building, we understand that funds are limited and are needed to help fund all projects. Our funding request will concentrate on the front street facing portion of our building.









